Казачук Ольга Ярославна 
МАОУ СОШ №35 г. Улан-Удэ
Учитель начальных классов

Тест. Именованные числа.

(1) Фамилия______________________
805см=…….м…...см         7400 кг=…….т…...кг
5м30см=……...мм             19ц 15кг=………....кг
7м7дм=……..см                38кг20 г=..…………..г
8м3см- 3дм5см=_________________________________
5 т 200 кг + 2 ц 6 кг =______________________________


(1) Фамилия______________________
805см=…….м…...см         7400 кг=…….т…...кг
5м30см=……...мм             19ц 15кг=………....кг
7м7дм=……..см                38кг20 г=..…………..г
8м3см- 3дм5см=_________________________________
5 т 200 кг + 2 ц 6 кг =______________________________

(1) Фамилия______________________
805см=…….м…...см         7400 кг=…….т…...кг
5м30см=……...мм             19ц 15кг=………....кг
7м7дм=……..см                38кг20 г=..…………..г
8м3см- 3дм5см=_________________________________
5 т 200 кг + 2 ц 6 кг =______________________________


(1) Фамилия______________________
805см=…….м…...см         7400 кг=…….т…...кг
5м30см=……...мм             19ц 15кг=………....кг
7м7дм=……..см                38кг20 г=..…………..г
8м3см- 3дм5см=_________________________________
5 т 200 кг + 2 ц 6 кг =______________________________


(2) Фамилия______________________
705см=…….м…...см         8400 кг=…….т…...кг
6м30см=……...мм             29ц 15кг=………....кг
8м8дм=……..см                48кг20 г=..…………..г
9м3см- 4дм5см=_________________________________
6 т 400 кг + 2ц 7 кг =______________________________

(2) Фамилия______________________
705см=…….м…...см         8400 кг=…….т…...кг
6м30см=……...мм             29ц 15кг=………....кг
8м8дм=……..см                48кг20 г=..…………..г
9м3см- 4дм5см=_________________________________
6 т 400 кг + 2ц 7 кг =______________________________

(2) Фамилия______________________
705см=…….м…...см         8400 кг=…….т…...кг
6м30см=……...мм             29ц 15кг=………....кг
8м8дм=……..см                48кг20 г=..…………..г
9м3см- 4дм5см=_________________________________
6 т 400 кг + 2ц 7 кг =______________________________

(2) Фамилия______________________
705см=…….м…...см         8400 кг=…….т…...кг
6м30см=……...мм             29ц 15кг=………....кг
8м8дм=……..см                48кг20 г=..…………..г
9м3см- 4дм5см=_________________________________
6 т 400 кг + 2ц 7 кг =______________________________
